
DAPTDAPTDAPTDAPT
PERFORMANCE PRODUCTS

4140-InstructionSheet-042106.cdr

12438 Putnam Street Whittier, CA 90602 tel (562) 921-0404 fax (562) 921-7515
website: www.tdperformance.com email: techsupport@tdperformance.com

PART# 4140
UNIVERSAL
DRIVESHAFT LOOP

INSTALLATION INSTRUCTIONS

1. Determine correct height of driveshaft loop before drilling
holes in floor. Ends of steel plates may be bent if needed,
due to limited clearances. The Trans-Dapt Performance
loop is adjustable to allow for varied driveshaft heights.
Once this is known, position plates, drill holes and secure
with the 3/8-16 X 1-1/2” bolts.

2. Complete installation by the placement of the half loops.
Secure in desired location with the 3/8-16 X 1 3/4” bolts
provided.

This Kit Contains:

2 - Right Angle Steel Pieces
(2” Wide X 1/4” Thick)

2 - Half-loop steel Pieces
(2” Wide X 1/4” Thick)

4 - 3/8”-16 X 1-1/4” Bolts 4 - 3/8”-16 X 1-1/2” Bolts

8 - 3/8” Flat Washers 8 - 3/8” Lock Nuts

3/8-16 X 1-1/2” Bolts

3/8” Washers

3/8-16 X 1-1/4” Bolts

3/8” Washers
& Nuts

Floor

Nut


